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JDN = [(—K+Y +4800) x 1461/4]  JDN = [(—K+Y + 4800) x 1461 /4]
+ [(Kx12+M —2) x 367/12] + [(Kx 12+ M —2) x 367/12]
— [[(=K + Y + 4900)/100] x 3/4] + D-32113
+ D —32075
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L = JDN + 68569 L = JDN + 1402
N = [4x L/146097] N = [(L—1)/1461]
L = L-—[(146097 x N + 3)/4] L = L— 1461 x N
I = [4000 x (L + 1)/1461001] I = [(L—1)/365 — [L/1461]
L = L-—[1461 x 1/4] + 31 L = L—365x1+30
J = [80 x L/2447] J = [80 x L/2447]
D = L— [2447 x J/80] D = L— [2447 x J/80]
L = [J/11] L = [J/11]
M = J+2-12xL M = J+2-12xL
Y Y

= 100 x (N—49)+I+L = 4xN+I+L-4716
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00 = (JDN+1)mod7, 0O0O0Dm:00,1:00,---,6:00
00 = (JDN+49)mod60, O0OOmM:00,1:00,---,59:00
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